normalized X?

SRR
6 8 10 12 14 16 18 20

0 2 4

[ normalized x? probability |

0.16
o0.14f--i
0.12f -}

0.1f-
0.08f- -

0.06f - -

040506070809 1

1
T

< x2/ndf >

Ratio

X Prob(x?)
=== DQMs{ep3_TT_CKF
m—— DOMstep3_TT_default
— DQMstep3_TT_ckfPixelLess
s DQMstep3_TT_default-relf4
e DQMstep3_TT _default-relfs
2 ! !
A ! i
= ! !
o k
=~ i i
o Y [
L=} ! !
v ' i
til It
-
ie] 1
2 B |18 3 Y O (R | B
ox : : ]
2F - [l 1-fHpe - - *
0 . ol
=3 -2 -1 0 1 2 3
TP n (PCA to beamline)
A
k<]
c
=
N
>
\%

< x2/ ndf >

Ratio

5
= 5F
5 E :
N E
- F -
o E M
— N
o H
) ¥
111
v 13
4 g,
E LT R Y P S,
4

°
T 4 -
x b

2F - 11 - :

10" 1 10 10? p103

Ratio




	Contents
	Page 1


